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GENERAL INSTRUCTION TO THE EXAMINEES :

1. qRIeTff LM U UeH UF WR AIG Sifaria: ford |
Candidate must write first his/her Roll No- on the question paper compulsorily-
2. T U A a7 |

All the questions are compulsory-

3. U U Pl IR & Mg IR JRAD1 A 8 ford |

Write the answer to each question in the given answer book only-

4. 51 g9t & 3% Wos & S 99 & SN T a1 & ford |

For questions having more than one part] the answers to those parts are to be written together in
continuity-

5. U &1 IR oI ¥ gd U &1 SHHid 31aeg ford |

Write down the serial number of the question before- attempting it-

6. U TF & 2=l 9 IUSH HUFRY # Bl gdR @ Fe | o/ RN 81 W
e AT & T Bl B AS A |

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the
question of Hindi version should be treated valid-

7. U3 hHIPb 16 W 20 W <R fdbed 2 |

There are internal choices in Question No. 16 to 20 .



gug 3
SECTION-A

IS Te: (Y5x16 = 8)

Multiple choice Questions :-
() IE U@ Srael faerad &1 T 5

(a1) IB XISee gH @I AMGr 8. (@) A H ST =0

@A v s = o (3) SIRKRD |
This is a properties of an ideal solution-

(A) It follows Raoult's Law (B) A H mixture=0

(C) AV mixture=0 (D) All of the above

(i) ST T o # fedar Asor BT § —

(31) FeO T Fe (OH), (d) FeO d Fe(OH),
(9) Fe,0; d Fe(OH); (%) Fe;0, T Fe(OH);
Rusting is a mixture of which of the following ?
(A) FeO T (OH), (B) FeO dFe(OH),
(C) Fe,0; T Fe(OH); (D) Fe;0, T Fe(OH);
(iii) T2 BIfe AMNATHAT & 90% YOI BN H T HHIA BRI —
(37) o1 oMY BT 1.1 AT (@) 31 Mg T 3.3 AT
() o1 3MY BT 3.5 AT (]) o1F 3MY BT 44 AT
The time taken for 90p completion of the first order reaction will be approximately
(A) 1-1times the half life (B) 3.3 times the half life
(C) 3-5 times the half life (D) 4.4 times the half life

(iv) fg<a wife fafhar & o ReRrid @1 w18 B80T
(@1) mol L' s (@) L'mol L s
(|) s () mo1>L?s

The Unit of rate constant of second order reaction will be -
(A) mol L' (B) L' mol L' s"

(C) s (D) mol* L'



(V) SII— I ORHETY] GRAT 967l B, oSSy & URHIY] PR H T Bl & —

(e7) froar smRafia &t & @) < uget gt € &R fiR gedl &

(&) forear 9ot € (@) forear ge ol

What happens to the atomic size of Lanthanides- as atomic number increases ?
(A) Radius remains unchanged (B) First the radius increases then decreases
(C) Radius increase (D) Radius decrease

(vi) [EDTA] " @ TH=g AT § —
(e1) 3 @) 6
() 4 ) 5

The Co-ordination number of [EDTA]_4 is -

() 3 () 6
(© 4 () 5
(vii) FARIST § DI qed IR ST & —
(37) PraTeE (@) HA=NRrE
(%) SR (3) FMfea
Which element is found in chlorophyll -
(A) Cobalt (B) Magnesium
(C) Iron (D) Nickel

(vii) DNA ¥ &R BId § —

(31) Ve, TarfE, aafae, dgeRiE (@) Ui, @ e, e, dgeriE

(4) SUgad = (@) Suad § | BIs A TR
DNA contains bases -
(A) Adenine, Guanine, Thymine, Cytosine (B)Adenine, Guanine, Uracil, cytosine
() Both (D) None
(ix) FrefoRaa § da AfTe gHbfa § UgR 931, 9 9rn Sar
(@) e (@) <erd

(%) oL () et



Which of the following compounds is found in abundance amount in nature ?

(A) Fructose (B) Starch
(C) Glucose (D) cellulose
(x) fEaest srfwad®d & —
(31) I AhITel FARTSS (@) 919 FediFd I
(A) I AhHZS (]) BT AR
Hinsberg reagent is -
(A) Benzene sulphonyl chloride (B) Benzene sulphonic acid
(C) Benzene sulphonamide (D) Phenyl isocyanide

(X)) ST STS USIIfH delRIgs X 9 STHfshar &R Tdh (1) I5Th <l §, IMBREBXE —
(@1) ¢, H0H (@) cqH;
(|) Co HsNH, (%) H0

Benzene reacts with diazonium chloride 'X' to give a dye The reactant 'X' is -

(A) C,H:OH (B) C,H,
(©) CcoHNH, (D) H,0
() B DD T
(31) fr5Te cucly/Hcl (@) ST znCly/ Hel

(&) STl cuCl,/H,S0, (8) fASTel znCly/H,50,

Lucas reagent is -
(A) Anhydrous CuCl,/Hcl (B) Anhydrous ZnCl,/ HCl
(C) Anhydrous Cucl,/H,S0, (C) Anhydrous ZnCl,/H,S0,

(xi1) Vedlaiel ASTH & A1 AMAMHAT PR TR ST 9 ST HRaAl & —

(31) Ha (a) CO,

(9) NH; () 0,



Which Gas is produced when alcohol reacts with sodium\

(A) H, (B) co,
(C) NH; () o,
(xiv) frrferRad & & fdedr SUANT fedde & wu § 8ar & —
(31) FARIBIH (@) SmArSTHH
(@) vAfeei™ (@) #
Which of the following is used as a Anesthetic -
(A) chloroform (B) lodoform
(C) Acetylene (D) Methane

(xv) ferfarRaa erfafshar & A (8) @m © —

C,HsBr KCN (A) &1 — 3uged  (B)
(31) E’%ﬁ'i%l? FARTSS (3 wHifed areet
() IS 3 () S

What is the compound (B) in the following reaction ?

C, HsBr KCN (A) Hydrolysis — (B)

e >
(A) Ethylene chloride (B) Acetic acid
(C) Propanoic acid (D) Benzene

(xvi) SN2 JTfAfohaT & §9aT B—
(31) HsHHOT JrawRr (@) PrETAIA
() Prai~rRI I (8) Ih JoId

SN? is formed in the reaction-

(a) transition state (b) carbanion
(c) carbonium ion (d) free radical
R T &1 gt Fiforg

Fill in the blanks

() PR & AT # .......... & AN B FeAlg QI Sl & |

It is advisable to use.................... in the car radiator

10x ¥n=

S)



On increasing the concentration, the speed of reaction ................... .

(iv) ST 3MfPH T SATRNBROT TARAT G ATAT AHHIT T oo =
The transition element having the highest oxidation State is -
(V) [Co (NHs) s ONOJ*? 3T T IS I U, A .o =

The I.U.P.A.C. name of [CO (NH3) s ONOJ™ i0N iS wvecvevevevereerennnn. .

(vi) faerf®= A &1 H A .. T BT ST ®

Difiency of vitamin 'A' causes ..........cccuuee... disease

(Vi) UehI8TeT T AT G oo BT T |

The General formula of Alcohol is .........c...c........ .

(vin) UfedheT BATSS © AT Ag,0 BT IMFATBAT T &
(1X) DDT T GRT AT oo g

Full name of DDT S ....euuveereeeeeneee .

(X) TFreT FAARTSS BT AgCN B ST TH BRT oo T BT 7 |
By heating Ethyl chloride with AgCN is ................. obtained.
3) 3fd STgRIRTAD U — (8x1=8)

Very short answer type question:

() fo=r 1 v fdere & SQEIT TIRNTY, o IS8ee & M99 9 a9idIs faeraq ueiRia
P 8 ?

Give examples of any two solution which exhibit positive solution from Raoult's Law ?

(1) A= MY UR STl DI AR BT AT gy |

Tell the value of Molarity of water at normal temperature .

(n) faf¥re aratdar, vd et ReRie # w1 9drsy |

What is the relationship between specific conductivity and cell constant .

(v) oierFrge &0l H FEarSie g9 &1 SHR URHAIY hHAdh d¢4 W Hedl &, 39
HApa B T HEd & 7



In the Lanthanide series] the size of trivalent cations decrease with atomic number- What is the
contraction called ?

(V) Ni (Co), § Ni BT IMSITRITBROT SraRAT RIT 87

What is the oxidation state of Ni in Ni (Co)4 ?

(vi) e § SuRerd dw<1a WA BT M iy |
Write the name of the central atom present in Hemoglobin ?

(vi) ¥erd @ &I 3faual & A foTlRay |

Werite the name of two components of starch.

(vin) Fre=TfeRaa @1 &g |Hed & 9gd gU A H FaRIT BIfoTg

CsHs NH,, CsHsN (CHs),, (CeHs), NH =m CH; . NH,

Arrange the following in increasing order of basic strength-

C6H5 NH2, C6H5N (CH3)2, (C6H5)2 NH and CH3_NH2

gieg— ¢q
SECTION-B

STYTRIHD U — [12x1'>=18]

Short answer type question:-

4. 9Tl 3 RERIA (CsHg 0s) BT Yo fAedT 500g UM H §B FeaRial aidd” daR e
AT AT | 9 Ul ® FUAIDG 100.42° C B | S Od B 991 @& oy RereRia &1 fdha
S °lell AT | (U & foT K, = 0.512 KKgmol ')

A solution of Glycerol (CsHg Os3) in water was prepared by dissolving some glycerol in 500g of water- This
solution has a boiling point of 100-42°c. What mass of Glycerol was dissolved to make this solution ? (Kb

= 0.512 K kgmol )

5. frdY faora= & foTU HieRar g Hiciardr #§ arar foIfRau |

Write the difference Molarity and between Molar molility in a solution

6. UH DIFC B AMWATHAT & oIy FHTHB T AT FHIBRUT Fea=T oy |

Derive integrated rate equation for rate constant of a first Order reaction .



7. fA=AfoiRad &1 sarer sifsu—
(37) HspHoT Ta i AIfTE g F

@) ST BT HAHHT T 2] AT ST |

Explain the following observation:
(A) Transition elements generally from coloured compounds-
(B) Zincis not regarded as a transition element.

8. AU H T AU § ? Y JAMWIHAT §IRT AASSY |

What is the meaning of disproportionation Write explain one reaction.

9. HISTHAT §9 R & MIR W el [COFe]™ Sifarfianxor sraver, dawvr, wmfafa

Td gHIDId Tpicl DI AASSY |

On the basis of valence bord theory. explain the Oxidation state, hybridisation geometry and magnetic

nature of complex [CoF,]?

10. IS &1 grafisd 9 fgdias WRa & IR § 9As1sT |
Describe what you understand by Primary structure and secondary structure of Proteins ?

11. B e =T 8?7 I8 fas forw oM omdar 27 e IHiexr & Jgrdr 9
THETST ?

What is schiff's reagent. What is it used for ? explain with the help of chemical equation-

12) freforiRad RArfe arffhara o1 gof Sy —

(31) CoHsCl+ CHy-Cl STt alcl,
e

(@) CHCH=+CH, +HI ——«»

(d) CH;CH, OH + SOCl, A |

Complete the following. Chemical raction.

(A) CsHsCl+ CH;-CI Anhydrous AICI;
e

(B) CH;CH=+CH,+HI —— »
(C) cH,CH, OH + SOCl, A

13. BTSSIIRT IMTRITHROT JATHAT I T AT 87

What do you understand by Hydroboration Oxidation reaction ?



14, MU B Bsd FIRRY SHss © A1 JIWTHIT & gTamd ST Iuged &R+ I
999 Tl SIS Bl AT 9 IUPAC ATH ford | srfarfehar ot forlRau |

Give the structure and IUPAC name of the product formed when propanone is reacted with methyl
magnesium bromide followed by hydrolys is .

15) f=IferRad wuiavor forRay
(31) VT | FERYE
@) e 1—ATSgm

() <Telz | dfTal Vedhigldl

Write the following conversion -
(A) Ethane to Bromoethane
(B) Propene to I-Nitro propane
(C) Toluene to Benzyl alcohol
gvg — 9
SECTION-C

<" STRTHAS 91

Long answer type question: [3x3=9]

16. (1) IRAT & Gael U 3P SRDIY AR DI TARAD AAHAT Th AHSY |

() fFr=faRaa e afafhar & w3 § A — 8 @ UgaH IR JARAG I
ferfaa |

COOH

A+ CH, / POCI,
\ '

COOH B +2H,0
(iii) TSI B AT FE TS |
31204 / (OR)

() uhferd, Yewa TIF @ o § wH aRe™ T b IS fAfear @R
A |




(i) FrferRad IS IWRHAT & &HH W A AT B B UgAM R ARG G falay
Cs Hs NH, NaNO,+HCI (A) CsHs NH, (B)

773 -278 R OH
(iii) TSI a1 ATl WA I8¢ |
(I) Explain the weak Acidic & basic nature of Urea through a chemical reaction?

(1) Identify A and B in the following chemical reaction and write the chemical formula.

A+CH, ~COOH  POCl; B +2H,0
\COOH
(111) Draw the Resonating structure of Nitrobenzene
3ferar / OR
(I) Aniline is less basic as compared to alkyl amine- explain with the help of chemical reaction-

(1) Identify A & B in the following chemical reaction- " and write the chemical formula .

Ce Hs NH, NaNo2+HCl (A) GCsHsNH, (B)
273 -278 K OH *

(1) Draw the resonating structure of Aniline-

17. (i) TP SIfAfPAT & I ReRid &1 shrs IfAfhar & I & &= & ar rfafhar &1
PIfe gy |

(i) erfshar 2n0 + 0, , 2NO, & forg o ReRrid @1 ga1s @ar 8T ?

(iii) ©IH THRIUH STMATHAT BT IaTERT IRTT |
372[dT1 / (OR)
T AMAfhAT A & Tl fgefia dem 8 & yfd gom @ife &1
() srade™ I FHIHRT foTRay |
(i) A T Fresdll A9 A BRA F T R FIT YA I 2
(i) A TAT B THAT DT Frsell QR HRA 9T UR R G919 IS 2

(i) In areaction] If the rate of reaction is equal to rate constant- What will be the order of Reaction ?
(ii) for Reaction 2NO + O, ——» 2NO,
What is the unit of Rate constant ?

(iii) Give the example of Pseudounimolecular reaction ?



37741 / OR
A reaction is second order in A and first order in B,
(i) write the differential rate equation-
(ii) How is the rate affected by increasing the concentration of B three times.

(iii) How is the rate affected when the concentration of both A and B are doubled.

18) (i) VIHI & FaHId HATRA HIH I Sod BIAT ©, FHSNST Fl?

(i) T BT § SE WA, AT AEfed v W fhar axar g, ifafhar &1 Ivmafe
IR fafay |

(iii) JIIP S Vohlglal T IUPAC T SITSTY |
3T

() faferaa= dveryor @ rfafehar faley |

(i) BT B AT UPfT DI AASISY |

(i) T BT ® S Bl A H,50, @1 SURART H Ifetd VTergsss & Ay AfAfhar
BT B ? IAfAThAT BT IERIAE AHHER0T ST |

(i) Explain why the boiling point of ethanol is greater than Methoxymethane .
(ii) What happens when phenol reacts with conc. Nitric acid, write the chemical equation
(iii) Give the IUPAC name of tertiary butyl alcohol
OR
(i) Write the reaction of Williamson's syrothesis reaction ?
(ii) Explain the acidic nature of Phenol ?

(iii) What happen when Phenol is react with Phthallic anhydride in presence of conc. H,SO, write the
chemical equation of this reaction.

Yrs — q

SECTION-D

~ -
[Ade]]cHd MR —

Essay type question [4x2=8]

19 (i) ST URIETT e FHg @1 Ugd g SYANT H T Sl 8° RIS FHIdR0

QAT |



(il) FITH=A TUTIS g e fheR Uad_ § PIs Udh 3R foRgu |
(i) VoSt AfAfhaT @7 IS AHIEReT faRau |
(iv) ST Tig AT BT B el NG 99137 |
3ferat
() ratfer W 1 ST HRer Ao |
(i) =R AfpHe Jq BETfaaferd ard 99 @1 IS ffhar faRay |
(i) VfesEIgS, PICH a FEifdfeld el ¥ Y faNg B |

(iv) Praifdalcld F BT F9old AAYS AVMdd SIdAM ared Ufcssrss &l gorr 4
31 B BT RO IATSY |

(i) Tollen test is used to identify which group ? Give chemical reaction ?
(ii) Write any one difference between Clemensen's reduction and Wolf Kishner reduction reaction-
(iii) Give the chemical reaction of Aldol reaction.
(iv) Draw an Orbital diagram of carbonyl Group formation .
OR
(i) Give the resonance structure of the carbonyl group
(ii) Write the chemical reaction to prepare carboxylic acid from Grignard reagent .
(iii) How will you differentiate between Aldehyde, Ketone and carboxylic acid ?

(iv) Explain the reason why the boiling point of carboxylic acid is higher than that of aldehyde of equal
molecular mass .

20. () ®Rre @1 ¥ord g foay | afe v VFPaR fagld aRT &1 1 ddve dd &
et 9 garfed fBar Sy dl sH®1 TR &sid ged— DI |

(il) HIeR ATTDhdT A DR DI Foldh [Iley |

ST

() AR =TTl d Jedldb! ATeAdhdl H a7 <R & ? IfQ BaCl, B! AIGR ATADHAT 104 dm’
Lem2mol * 2, A1 SHSI JeAId! ATABAT S BIVIY |

(i) foga wmafe Jodid SR RS Jedid § &1 3R & ? I Q59 UhR Th
TR W i g2



(i) Write Faraday's First law- If one ampere electric current is passed through a solution for one second
then complete its mathematical expression

(ii) Write an expression to determine Molar conductivity
OR

(i) What is the difference between Molar conductivity and equivalent conductivity? If the molar

conductivity of BaCl, is 104 dm™ cm? mol " then find the conductivity of its equivalent.

(ii) What is the difference between electrochemical and chemical equivalents? How are these two
related?



